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Sub questions

Question Number : 1 Question Id : 6863409009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR T o &:
1. T T fRT
2. T &1 /el
3.7 H AR W UeR
4. 70T 1 3GH &I
Options :
68634035601. 1
68634035602. 2

68634035603. 3
68634035604. 4

Question Number : 2 Question Id : 6863409010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3. 1R
4. RFTR

Options :

68634035605. 1
68634035606. 2
68634035607. 3
68634035608. 4

Question Number : 3 Question Id : 6863409011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feres TR & 7R &1 &1 DI D EM &
1 SO R P
O D

[ B

3. 99 dCD
4, 9O &

Options :

68634035609. 1
68634035610. 2
68634035611. 3
68634035612. 4

Question Number : 4 Question Id : 6863409012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIYfET & I DI e [y RIF R eS8
1. U H
2. Ry
3. AR
4. TR
Options :
68634035613. 1

68634035614. 2
68634035615. 3



68634035616. 4

Question Number : 5 Question Id : 6863409013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRt qeiie &1 S o 8 g g -
1. YR

2. Iy Hiadd d1388

3. 'g'“llldillrﬁ IHAI

4. A BT B

Options :

68634035617. 1
68634035618. 2
68634035619. 3
68634035620. 4

Question Id : 6863409008 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863409009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
iR & 3 B
1. T &1 AT
2. T ST HEA
3T H AR I WeR
4. T 1 IGH BT
Options :
68634035601. 1
68634035602. 2

68634035603. 3
68634035604. 4

Question Number : 2 Question Id : 6863409010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R &1 do 2reg €T -
1. HMR
2. 4R
5. TR
4. AR
Options :
68634035605. 1
68634035606. 2

68634035607. 3
68634035608. 4

Question Number : 3 Question Id : 6863409011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feres TR & 7R &1 &1 DI D EM &
1 SO R P
O D

[ B

3. 99 dCD
4. g &
Options :

68634035609. 1
68634035610. 2



68634035611. 3
68634035612. 4

Question Number : 4 Question Id : 6863409012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R @1 G ST 6 [0F R IR 66 8

1.9y

' E
3. TR
4. fPIR

Options :

68634035613. 1
68634035614. 2
68634035615. 3
68634035616. 4

| ]

Question Number : 5 Question Id : 6863409013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sutfad eI &1 e o € wad & -
1. YR
2. AP Hfdd BT 38T

3. Al T FTEAT
4, A BT BRI

Options :

68634035617. 1
68634035618. 2
68634035619. 3
68634035620. 4

Sub-Section Number : 2
Sub-Section Id : 686340293
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863409014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT MBI H 33 B & H TS ! b4 HOR B RpAT R -
1. GepHD

HepHe

3. SrgHIUST

4. FHIOST

| B

Options :

68634035621. 1
68634035622. 2
68634035623. 3
68634035624. 4

Question Number : 6 Question Id : 6863409014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DI B H 3 Wl & J 3 6! [ PR P fpan g -

1. §H D

. 3PS
3. GHIUDT
4. gHEIGDT

Options :

68634035621. 1

68634035622. 2

68634035623. 3
68634035624. 4

| ]

Question Number : 7 Question Id : 6863409015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&id &1 Tl o T &-
1, it
RatuE]
3. PafLEl
4. Hfafg
Options :
68634035625. 1

68634035626. 2
68634035627. 3

| )



68634035628. 4

Question Number : 7 Question Id : 6863409015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S &1 %l feiv w5 3-
1. P!
 PiagHt
3. ot
4. Siafde
Options :
68634035625. 1
68634035626. 2

68634035627. 3
68634035628. 4

B8]

Question Number : 8 Question Id : 6863409016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 91 g4 11 9 fore Siforg
Tt 1 T I

A lsma il GRE

B. [R$T 1. RiE5

C. [@Hd I1L. [dRH

D. [f3ur v [qui

FafdRad el © ¥ 98l IR &1 994 DileT

1. A-I. B-IIL. C-II. D-IV
2. AL B-IV. C-1. D-IT
3. A-II. B-TV. C-III. D-I
4. A-IV. B-1. C-I1. D-III

Options :

68634035629. 1

68634035630. 2

68634035631. 3
68634035632. 4

Question Number : 8 Question Id : 6863409016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il 1 91 41 11 9 fore Siforg

Tt 1 I
A |ema 1 R
B. [R&a . Rizn
C. [gad I1L. [dR™
D. [fdm v, [qui
FgfeEd [d®edl & T 9l SR &1 994 SV :

1. A-I. B-IIL. C-IL. D-IV

| B

AL B-TV. C-1. D-11
3. A-TIL B-IV. C-I11. D-I
4. A-TV. B-1. C-I1. D-ITI

Options :

68634035629. 1

68634035630. 2

68634035631. 3
68634035632. 4

Question Number : 9 Question Id : 6863409017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T DIel R 1Y P T DY D1 Tl |
T 841 & SR I Fidl g3 PR S
S U § SIH-T1 3T 82
1. 3539
2.4R
3. YD
4. YA "
Options :
68634035633. 1
68634035634. 2

68634035635. 3
68634035636. 4

Question Number : 9 Question Id : 6863409017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y BT HX By & 91 B~ 361 il |

T 841 & WIR I Fidl 3T PR 51T
ST H HF-TI g 22
1.5 39
2. dR 3™
3. YOS T
4. Y IH
Options :
68634035633. 1
68634035634. 2

68634035635. 3
68634035636. 4

Question Number : 10 Question Id : 6863409018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 a1 ¥ fiaH eife
T 1 (IEPR) A 11 (aTeHT)
A [3H® 1 |Usdd @ "ieH ¥ SiuEgd &l auld
B. [om 1L [udh ol 2sg § 3 Y @id
C. [&w 11 [od9H 9ol @1 A1gRd
D. [eHrEiad V. [Rrsal @] gl ciidh 1Y SeR1-3ic 8

i fou U fawedl § ¥ 9l 3R &1 904 Il -

1. AL, B-II, C-IIL D-IV
2 AL B, €111, DIV
3. A-IV. B-III, C-II. D-I
4. A-IV, B-III. C-1, D-IT

Options :

68634035637. 1

68634035638. 2

68634035639. 3
68634035640. 4

Question Number : 10 Question Id : 6863409018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il 1 o1 g4 11 9 fore Siforg

T 1 (AEBR) T 11 (ai )
A [0H® L |od & HI99H ¥ SAUEGd B auid
B. [omg 1L [Udh &l 2sg § S Y w@id 5l
C. [Re 1 [&eH 9ol &1 Hgh
D. [gHmla V.  [RTeg] @1 Mg oifde 3 Sferl-3ici ol

= fou U faeed] § ¥ 9l 3 &1 904 il -

1. A-I. B-II. C-IIL. D-IV

| B

AL B-1. C-IIL. D-IV
3. A-TV. B-III. C-I1. D-1
4. A-TV. B-I11. C-1. D-II

Options :

68634035637. 1
68634035638. 2
68634035639. 3
68634035640. 4

Question Number : 11 Question Id : 6863409019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tan 55° » sin 33° L _sec 49
ecot 35° cos57° cosecdl®

1.2

| ]
Folak

4.0

Options :

68634035641. 1
68634035642. 2
68634035643. 3
68634035644. 4

Question Number : 11 Question Id : 6863409019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



v o i ‘}'U i o
tan 55 +51113_ " sec 49 WWWW

cot 35°  cosS5TY cosecdl®

1.2

| B
—

4.0

Options :

68634035641. 1
68634035642. 2
68634035643. 3
68634035644. 4

Question Number : 12 Question Id : 6863409020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3EH! 4 ko/h B AT H T §U 12km DI GR1 GF BT §| 3FR 98 Gkm/h BT AT 8 I dl 3 &l
TTg | g fobat g3 (km BT B W

.16

L)

4.1

L

Options :

68634035645. 1
68634035646. 2
68634035647. 3
68634035648. 4

Question Number : 12 Question Id : 6863409020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e
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faah
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4:15

Options :

68634035645. 1
68634035646. 2
68634035647. 3
68634035648. 4

Question Number : 13 Question Id : 6863409021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TR HIRU &7 TR 10% a1 @] & 4 W &1 5 -1 81 offcll | Ia-11 g1 Sfaidl T JIeRu &rd &1
feh g 33§ g8 Td &' 10 T g1 SR

1. 18.5%

Options :

68634035649. 1
68634035650. 2
68634035651. 3
68634035652. 4

Question Number : 13 Question Id : 6863409021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TR HIRU &7 TR 10% a1 @] & 4 W &1 5 -1 81 offcll | Ia-11 g1 Sfaidl T JIeRu &rd &1
feh g 33§ g8 Td &' 10 T g1 SR

1. 18.5%



Options :

68634035649. 1
68634035650. 2
68634035651. 3
68634035652. 4

Question Number : 14 Question Id : 6863409022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe feodl u= Bt Y1 25% agl &l il , dl 9= & 3gd ¥ gig gl (Guwed & Uh - d Jol ):

1. 25.5%

[ F%]
)
n
L]
(=]
(=]

4. 125.9%

Options :

68634035653. 1
68634035654. 2
68634035655. 3
68634035656. 4

Question Number : 14 Question Id : 6863409022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

l¢ forsll 971 1 YW1 25% dgl 41 T, &l 99 & 31a= 4 gl Rl (G9H0d & U - d% 96! ):

1. 25.5%

L%
o
N
L]
(=]
(=]

4.125.9%

Options :

68634035653. 1
68634035654. 2
68634035655. 3
68634035656. 4

Question Number : 15 Question Id : 6863409023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U el 4 21750 T < uisdl @RI4] | 38 ygdl 9sl 10% 1 UR &=, Safd g8l U2] IR 39 15%
ATy sifold foean | afe oo e 39 = a1 g3 71 81 . 1 9%l arcll U91 $1%d Jeg w1 87

1. 2750

[ ]

. 2700
3. 3800
4. %550

Options :

68634035657. 1
68634035658. 2
68634035659. 3
68634035660. 4

Question Number : 15 Question Id : 6863409023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U el 4 21750 © &) uisal @il | 39 ygdl USl 10% 81 WR &=, Fafd godl Uo] IR 394 15%
A Sifofa e | afs o fiemes 39 7 @M go 9 81 . O %1 aTdl) US! &1 %4 Heg a1 &7

1.3750

[

L2700
3. 800
4. F550
Options :
68634035657. 1
68634035658. 2

68634035659. 3
68634035660. 4

Question Number : 16 Question Id : 6863409024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U P YT H HEAT Bl SVZG {oRa1 &1l § 98 WILD & [o1Y e &1 g2
1. DMOW
2. DROW
3. RDOW
4. KPOW
Options :

68634035661. 1
68634035662. 2



68634035663. 3
68634035664. 4

Question Number : 16 Question Id : 6863409024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U P YT H HEAT Bl SVZG {oRa1 &1l § 98 WILD & [o1Y e &1 g2

1. DMOW
2. DROW
3. RDOW
4. KPOW

Options :

68634035661. 1

68634035662. 2

68634035663. 3
68634035664. 4

Question Number : 17 Question Id : 6863409025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S.QTFHES. B PHI TR IRP.RFBIHG ¢ | A PHIQ & Iy 31 Rt g2
1. 4TS
2.9¢1
3. o
4. dg

Options :

68634035665. 1
68634035666. 2
68634035667. 3
68634035668. 4

Question Number : 17 Question Id : 6863409025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S.QFI UGS, TP PHI UG IRP.RBING ¢ | A PHIQ & Iy a1 R g2

1. U
2. 971
3. foan
4. "@g
Options :
68634035665. 1
68634035666. 2

68634035667. 3
68634035668. 4

Question Number : 18 Question Id : 6863409026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

28 B 1 sy [idd 9 9 U 7T HYF &1 SIR0 §

HY: TP ox¢ fopdre g T U S0 GRI $d (AR 500 I ST MU o | 3745 380 I ™1 gRI &Y
Yy

foep .
1-dHH 60% g o
11 - e} geciand =y o |

1. %ad 5y 1 S ERU HRal &

2. &g BN 11 HISFAZRU Bl §
3. T1 A1 T YA 11 %01 SRl §

A4, AT HR A B ISR SRl §

Options :

68634035669. 1
68634035670. 2
68634035671. 3
68634035672. 4

Question Number : 18 Question Id : 6863409026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



28 B 1 sy [idd 9 9 U 7T HYF &1 SIR0 §

mtg;Www%ﬂwﬁﬂmgﬁfﬁaﬁﬂsomqwm&'?ﬂﬁ@asewﬁﬂﬁmm
iy

fop .
1-d T 600 RAH O
11 - o gecias =g ¢

—

 Faq Fspd 1 3R FRdl §
o e 11 BTSRRI Bl 8

[ )

3. AT AN T 3YAT 1T STER01 Bl §
AT R A B ISR FRAT 8

o

Options :

68634035669. 1
68634035670. 2
68634035671. 3
68634035672. 4

Question Number : 19 Question Id : 6863409027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1
SO THAI P I B ol [ G5 H A 5 -
523.734,981,853.648

1. 734

)

981

. 853

Lr¥]

4.648

Options :

68634035673.
68634035674.
68634035675.
68634035676.

AW N —

Question Number : 19 Question Id : 6863409027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1



SO THAI P I B ol [ G5 H A 5 -
523.734.081.853.648

1. 734

)

981

. 853

Lr¥]

4. 648

Options :

68634035673. 1
68634035674. 2
68634035675. 3
68634035676. 4

Question Number : 20 Question Id : 6863409028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U o1 &1 RRufaal i geiis 718 € (9 3 1 Y UR 8 e I W B 91 3 g

S

I
L Y]

4.6

Options :

68634035677. 1
68634035678. 2
68634035679. 3
68634035680. 4

Question Number : 20 Question Id : 6863409028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 31 5 Rufaal 9= 53fE 18 € e o 1 TN R E .99 99 R S H 91 3% 8

O

I3
L)

4.6

Options :

68634035677. 1
68634035678. 2
68634035679. 3
68634035680. 4

Question Number : 21 Question Id : 6863409029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g SasHE He 9 SRRy fafd T ol 8

1. Helgp] uiddsHeE

2. BN SEsHE
3. T AasaE

4. TRY SIS HE

Options :

68634035681. 1
68634035682. 2
68634035683. 3
68634035684. 4

Question Number : 21 Question Id : 6863409029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e s HE e ¥ SiaRpiy faf T et 8

1. Helgp] uiddsHeE

2. BN SEsHE
3. T AasaE

4. TRY SIS HE

Options :

68634035681. 1
68634035682. 2
68634035683. 3
68634035684. 4

Question Number : 22 Question Id : 6863409030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 o1 g1 11 9 fora Siforg
el 1850 ST eIt 11 T
A [P 3T HPIGH (NDA) I [GEdIgd
B, |YRd™ I HABGH (IMA) 1 [GdhermEr
C. [P &1 PISNDC) m. 9o
D.  [3&7 gde[ Blcial (CDM) V. s foeett
frafefad faeedl 3 J 91 SR &1 99 ST ;

1. A-IIL B-1. C-IL. D-IV

|

AL B-1L C-IV. D-11
3. A-I. B-II, C-IV. D-II
4. A-IL. B-1. C-IV. D-III

Options :

68634035685. 1
68634035686. 2
68634035687. 3
68634035688. 4

Question Number : 22 Question Id : 6863409030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1



It 1 o1 g1 11 9 fora Siforg

T 1 R e 11 =
A TP & HPIEH (NDA) 1 [eevigd
B [YRdig &0 H@iedl (IMA) 1. [YharEg
C. [P T PITSINDC) . [gqot
D. [3&n UdyE ke (CDM) v, [g oot
FgfeiEd [oeedl & T 981 SR &1 994 iV :

1. A-IIL B-1. C-IL. D-IV

|

CA-IL B-IL C-IV. D-T1
3. A-L B-I1, C-IV. D-II
4. A-IL. B-1. C-IV. D-ITT

Options :

68634035685. 1

68634035686. 2

68634035687. 3
68634035688. 4

Question Number : 23 Question Id : 6863409031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2022 H G 3 9 o5 TR 20 95 9ol 3 RSP 4 ST (31 711 8
1. RY HHA 3=l
Iy R

3. IHEE Yl

| ]

4, HHRPI

Options :

68634035689. 1
68634035690. 2
68634035691. 3
68634035692. 4

Question Number : 23 Question Id : 6863409031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2022 § FHofafad 7 9 fod Tor & 975 We 3d QR 3 Gr1id g ma g2

1. 9RY HHA 3=l
2. BTy e
3, TR YAl
4. HFRPI

Options :

68634035689. 1

68634035690. 2

68634035691. 3
68634035692. 4

Question Number : 24 Question Id : 6863409032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B IE AR AIE A CARI I
FU1  fIqgd ooy § v IR 9ROy 3 SeT IRA SH Y S9rdt ®
FUTI TS U R & ol ufeRiy 7 § SiR arie S=E e e
Sude FYE1 & H1aie o, U T [dered] 8 9 981 IR &1 994 Sl
1. BYT 1 R I SH 9 &
HYTI AR I EH! S

PYT 1 T &, AT DY 11 3T ©

]

L ¥ ]

4, PYT 1 T B, AP HUT 1 T ©

Options :

68634035693. 1
68634035694. 2
68634035695. 3
68634035696. 4

Question Number : 24 Question Id : 6863409032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIERAKCAIC A CURI A

FU1  fIqgd ooy § v IR 9ROy 3 SeT IRA SH Y S9rdt ®

FUTI TS U R & ol ufeRiy 7 § SiR arie S=E e e

Suded Syl & e o, 4T 70 [dwed] 8 3 91 3= &1 984 DIfot:
1. BYT 1 AR 11 GHT 5 &

DY SR G S 8

PYT 1 T &, AT DY 11 3T ©

]

L ¥ ]

4, PYT 1 T B, AP HUT 1 T ©

Options :

68634035693. 1
68634035694. 2
68634035695. 3
68634035696. 4

Question Number : 25 Question Id : 6863409033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frd ferd oyl # 9 98l oy g9y

Ayl g faer ufieg (NDo) & e e ©

B. TSI H SIS 1952 H g1 Ul

C. gIoH1 UidqurE g el &I Tgad - & ol U513 D176 g ol
D. T3.31.31 &1 776 YRd a4 &1 1931 1 qRem & auiend i gam

- U 7T foweat & ¥ el STk &l =99 I
1. Pad A IR B
2. %ad B AR C
3.%dd C 3R D
4. ®ad A, B. 3IR D

Options :

68634035697. 1
68634035698. 2
68634035699. 3
68634035700. 4

Question Number : 25 Question Id : 6863409033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{4 forg syl 0 9 wel vy gH
A, XTYURY 5T T uikeg (NDC) & U8 HeTE §
B. TSI H SIS 1952 H g1 Ul

C. gIoH1 UidqurE g el &I Tgad - & ol U513 D176 g ol
D. T3.31.31 &1 776 YRd a4 &1 1931 1 qRem & auiend i gam

- U 7T foweat & ¥ el STk &l =99 I
1. Pad A IR B

®ad B AR C

3.%dd C 3R D

4. ®ad A, B. 3IR D

| )

Options :

68634035697. 1
68634035698. 2
68634035699. 3
68634035700. 4

Part B: Biochemistry

Section Id : 686340180
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340294
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863409034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The largest membranous cellular organelle is :
1. Mitochondria

2. Peroxisomes

3. Nucleus

f=

. Endoplasmic reticulum

Options :



68634035701. 1
68634035702. 2
68634035703. 3
68634035704. 4

Question Number : 26 Question Id : 6863409034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey 93] [Yreeigad PIRT 3 &
1. Hgeldii=ar
2. R
3. s
4. 3mSR

Options :

68634035701. 1
68634035702. 2
68634035703. 3
68634035704. 4

Question Number : 27 Question Id : 6863409035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cellular organelle is called as digestive tract of the cell ?

—

. Golgi apparatus
2. Peroxisomes

3. Nucleus

4. Lysosomes

Options :

68634035705. 1
68634035706. 2
68634035707. 3
68634035708. 4

Question Number : 27 Question Id : 6863409035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afafaa § S o O SR, S &1 9= 83 $eddl a7

1I L %1
2. RHggEg
3. BRP
4. ASEERT

Options :

68634035705. 1

68634035706. 2

68634035707. 3
68634035708. 4

Question Number : 28 Question Id : 6863409036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mitochondria is involved in -
1. Oxidative phosphorylation and Beta oxidation

2. Independent protein synthesis

LF ]

. Both (1) and (2)
4. Digestion of lipids and proteins

Options :

68634035709. 1
68634035710. 2
68634035711. 3
68634035712. 4

Question Number : 28 Question Id : 6863409036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEePioul SiHfad 8id &

1. fTSica BIEpREURE AR diel sfiaiew o
2. W HicH gy §
3.1 8R2EHT A
4. TS IR UIEH & 9= 4

Options :

68634035709. 1

68634035710. 2
68634035711. 3




68634035712. 4

Question Number : 29 Question Id : 6863409037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Size exclusion chromatography or gel filtration chromatography separates proteins based on :

1. Stokes radi

-

2. Molecular weight and shape
3. Both 1 and 2

4. Colour

Options :

68634035713. 1
68634035714. 2
68634035715. 3
68634035716. 4

Question Number : 29 Question Id : 6863409037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higol UG- HIHCHID! a1 oid Heed (hec) SIHCAND], UdE $1 59 3R 1R 9Uadd Rl
g

1. Tiag e
 3fUaE YR 3R PR
3.1 3R 2 Ml

4. GUf (37

ko

Options :

68634035713. 1
68634035714. 2
68634035715. 3
68634035716. 4

Question Number : 30 Question Id : 6863409038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In spectrophotometric measurement of proteins, which of the following amino acids contribute the maximum?

1. Tyrosine. Phenylalanine, Tryptophan
2. Tyrosine. Serine, Threonine
3. Phenylalanine. Alanine. Leucine
4. Histidine, Proline, Tryptophan

Options :

68634035717. 1

68634035718. 2

68634035719. 3
68634035720. 4

Question Number : 30 Question Id : 6863409038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & Wagipieiics T H Hafafad 8 9 o9 3 Ui s Faiiie armeH 4d 8 2
TR, NI, Ui
3. Bieua=H., U1, i

4. RIS, Uiel=. fegre™

Options :

68634035717. 1
68634035718. 2
68634035719. 3
68634035720. 4

[

[ o)

Question Number : 31 Question Id : 6863409039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
One of the following is not related to enzyme linked immunosorbent assay (ELISA)
1. Monoclonal and Polyeclonal antibodies
2. Antigen and Coupling enzyme
3. Electrophoresis
4. Secondary antibody
Options :
68634035721. 1
68634035722. 2

68634035723. 3
68634035724. 4



Question Number : 31 Question Id : 6863409039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad O 4 oH-91 Us taed Yeay HidRel S¥S HTH9 (Tarse) 3 96iid gl 87
1. B SR oidigama ufaeft

2. Uror SR g (SHufei) Usgd

3. SR R (d5gd PU-HdwH)

4. feiioe wfaweh

Options :

68634035721. 1
68634035722. 2
68634035723. 3
68634035724. 4

Question Number : 32 Question Id : 6863409040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If molecular weight of a protein is 2,20.000 gm per mole. what would be the number of amino acids in the
protein. assuming mean molecular weight of an amino acid to be 110 g per mole ?

1. 2200
2.2000

. 3300

L)

4.200

Options :

68634035725. 1
68634035726. 2
68634035727. 3
68634035728. 4

Question Number : 32 Question Id : 6863409040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe U UHIHT 3 &1 3719d U YR 110 UH UGHIA § df U Wi foTeT 0] YR 220,000 3 THHI g
SHH ! Sl i e &1 gl 2

1. 2200

b
| ]
=
=
=

4. 200

Options :

68634035725. 1
68634035726. 2
68634035727. 3
68634035728. 4

Question Number : 33 Question Id : 6863409041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following statement is incorrect ?
1. Ramachandran plot is related to protein structure.
2. Watson and Crick discovered the structure of DNA, proteins and RNA.
3. Calvin cyele incorporates all the carbon backbone of biomolecules.
4.Both 2 and 3
Options :
68634035729. 1
68634035730. 2

68634035731. 3
68634035732. 4

Question Number : 33 Question Id : 6863409041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofafad sy § S SH T HuT a8 2
1. IS e UIdH TR 3 Saiid 2
ey 3R fhe = S uA.0. UIeH 3R IR.UA.U. &1 T=-1 &1 @l o |
3. g 9ep & 9l OIF (U]l &1 B SNYR T ©
4.2 3R 3 A

Options :

68634035729. 1
68634035730. 2
68634035731. 3

[ ]



68634035732. 4

Question Number : 34 Question Id : 6863409042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the wrong one out -

1. Nucleotide minus phosphoryl group is nucleoside

]

. Purines and pyrimidines are double and single ring compounds, respectively.
3. Purines and pyrimidines are linked to sugars by a peptidoglyean bond.
4. Adenosine and Uridine are ribonucleosides.

Options :

68634035733. 1
68634035734. 2
68634035735. 3
68634035736. 4

Question Number : 34 Question Id : 6863409042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frrafeiad O 9 7Tad SU &1 9 i
1. BIEpIRE 91g Jed jaaiergs. Alaadegs gidl g
2. T SR RS ok g 90y (Sed 1) iR Ued aag (e 1) o aif$ 6
3. TR SR RIS, 6 § UisShags- o1&y gRISad 8id o
4. USARIA 3R gRSH. Agalgeadass g

Options :

68634035733. 1
68634035734.2
68634035735. 3
68634035736. 4

Question Number : 35 Question Id : 6863409043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A phosphodiester bond forms :

1. Polypeptides

| B ]

. Polynucleotides
3. Lipoproteins

4. Oligomers of carbohydrates and lipids



Options :

68634035737. 1
68634035738. 2
68634035739. 3
68634035740. 4

Question Number : 35 Question Id : 6863409043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIERISEURR 8¢ &1d1 6
1. diciiaprEsy

3. AU (i)

[ 8%

4. Freelzgcy AR AUSH (@ & iy (@aas)

Options :

68634035737. 1
68634035738. 2
68634035739. 3
68634035740. 4

Question Number : 36 Question Id : 6863409044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Watson and Crick base pairing is 7

1. Hydrogen bonding in a single DNA strand.

b2

. Non-covalent hvdrogen bonding between two DNA strands.
3. Van der Waal’s forces between bases.
4. Phorphodiester bonds between nitrogenous bases of opposite strands

Options :

68634035741. 1
68634035742. 2
68634035743. 3
68634035744. 4

Question Number : 36 Question Id : 6863409044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



aresH iR e &1 RS THF (@9 1) §:

1. U S1.UA.U ISP H BESio as

2. 3l SLUAUIES & dlF A-Heddlol gIgaier e
3, R$I (§9) & did e & 94
4. TORIA TS[P1 & &1 AISgIo! RS (G4 & did BIEhISRIRR HaR]

Options :

68634035741. 1
68634035742. 2
68634035743. 3
68634035744. 4

Question Number : 37 Question Id : 6863409045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The complementary sequence for the DNA stretch 'GATCAATCGAACT'. would be

1. CTAGTTAGCTTGA

rJ

. CTAGUUTCGUUCT
3. AGTTCGATTGATC

4. AGUUCGAUUGAUC

Options :

68634035745. 1
68634035746. 2
68634035747. 3
68634035748. 4

Question Number : 37 Question Id : 6863409045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SI.UA.U Ugl GATCAATCGAACT &1 J¥& 3sHH GITI:

1. CTAGTTAGCTTGA
2. CTAGUUTCGUUCT
3. AGTTCGATTGATC
4. AGUUCGAUUGAUC

Options :

68634035745, 1

68634035746, 2

68634035747. 3
68634035748. 4



Question Number : 38 Question Id : 6863409046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The two comumen antioxidants that also act as pro-oxidants in biological systems are

1. Ascorbate and Uric acid
2. Ascorbate and Polyphenols
3. Beta carotene and Uric acid
4. Ascorbate and Beta carotene

Options :

68634035749. 1

68634035750. 2

68634035751. 3
68634035752. 4

Question Number : 38 Question Id : 6863409046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sifaes 2l I &1 9y Ul siieRfieRe® S siaiieRe® &1 o1 Y Fd 5.9 ¢ -

1. TEplae 3R GRS o

2. TEhlae 3R grased
3. §ieT BRICH IR IR 3T
4. TEpide 3R dier BdH
Options :
68634035749. 1
68634035750. 2

68634035751. 3
68634035752. 4

Question Number : 39 Question Id : 6863409047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Diabetes is a:
1. Genetic disorder
2. Metabolic disorder
3. Genetic and metabolic disorder

4. Chromosomal disorder and digestive disorder

Options :



68634035753. 1
68634035754. 2
68634035755. 3
68634035756. 4

Question Number : 39 Question Id : 6863409047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT § UP:
1. HEI® f[derR
 Jurgdl PR
3. IATEMR SR IU=dt [a@R gl

4, TORET f[AHR R grawedd fder

| S

Options :

68634035753. 1
68634035754. 2
68634035755. 3
68634035756. 4

Question Number : 40 Question Id : 6863409048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An oxvhemoglobin molecule contains ?

1. Protein + heme with iron + CO,

2. Protein + Chlorophyll with magnesium +0,
3. Lipid + Sugar + 05

4. Heme with iron + O; + Protein

Options :

68634035757. 1
68634035758. 2
68634035759. 3
68634035760. 4

Question Number : 40 Question Id : 6863409048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% SfRfgmrafed sm & g &
1. WIEH + @8 gad 819 + €O,
IS + TR gad FiRithd +0,
@ (fdfs) + gl + 0,
4. T g g + 0, + e

Options :

68634035757. 1
68634035758. 2
68634035759. 3
68634035760. 4

| B ]

L]

Question Number : 41 Question Id : 6863409049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following mutations is least deleterious in a genome :
1. Migzense mutation
2. Non-sense mutation

3. Silent mutation

4. Violent mutations

Options :

68634035761. 1
68634035762. 2
68634035763. 3
68634035764. 4

Question Number : 41 Question Id : 6863409049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S ¥ Fafdiaa Iaiad-l O 9 SHE-91 A9 gTHPRS (W) 8?2
1. frre= Safads
2. -9 Iaftads
3. Yrgdie IgRaad
g

4. 3Y (A138¢) 3ENG

Options :
68634035761. 1
68634035762. 2



68634035763. 3
68634035764. 4

Question Number : 42 Question Id : 6863409050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below is the triple nature of codon, the possible permutation of four bases (A, G. T. C) is

1. 43

2.4x%3

Options :

68634035765. 1
68634035766. 2
68634035767. 3
68634035768. 4

Question Number : 42 Question Id : 6863409050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=19 U Upe (@IsH) ® e usid €t 115 81 IR a9 (&R) (A, G. T. C) & ¥54d =g g :

1. 43

Options :

68634035765. 1
68634035766. 2
68634035767. 3
68634035768. 4

Question Number : 43 Question Id : 6863409051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DNA photolyases are the enzymes that convert :

1. Pyrimidine dimers to monomers with FADH, as cofactor.
2. Pyrimidine monomers to dimers with FADH, as cofactor.
3. Pyrimidine monomers to dimers with NADH, as cofactor.

4. Pyrimidine monomers to trimers.

Options :

68634035769. 1
68634035770. 2
68634035771. 3
68634035772. 4

Question Number : 43 Question Id : 6863409051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SLUA.U B d UaTgH & o aRafdd aed §
1. FADH, Sithaex & I1 RIS Sead & gHm 3
2. FADH, ®Itder & 91y S HiHm &f sigad o
3. NADH, ®ithaer & 91y IS AHad &1 seqd o
4 TSR A Sl cgad |

Options :

68634035769. 1
68634035770. 2
68634035771. 3
68634035772. 4

Question Number : 44 Question Id : 6863409052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong MarKks : 1

What are the possible number of reading frames in any given double stranded DNA sequence :

1.6

| ]
(48]

4.2

Options :

68634035773. 1
68634035774. 2
68634035775. 3



68634035776. 4

Question Number : 44 Question Id : 6863409052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fail f&U U fgreie SIUA.U. 3 8 ST v (Ue & WIUR) I WHa I ght:

1.6

[ ]
L)

LN ]
v

4.2

Options :

68634035773. 1
68634035774. 2
68634035775. 3
68634035776. 4

Question Number : 45 Question Id : 6863409053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
During translation, the directionality of polypeptide synthesis is ?
1. C-terminal to N-terminal direction.
2. N-terminal to 3' direction.
3. 5' to C-terminal direction.
4. N-terminal to C-terminal direction.
Options :
68634035777. 1
68634035778. 2

68634035779. 3
68634035780. 4

Question Number : 45 Question Id : 6863409053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YA & SR, UIaOvS s IRy &1 fomm grff -

C-RR i an R # fean o

N-RR ¥ 3 3t fezn o

3.5 dc ol femnd

s N-RRAcRR IR

—

[ B



Options :

68634035777. 1
68634035778. 2
68634035779. 3
68634035780. 4

Question Number : 46 Question Id : 6863409054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the odd one among the following :

1. James Sumner — Urease

[ ]

. Holoenzyme — functional enzyme plus coenzyme and/or metal ion.

LFN]

. Apoenzyme — Enzyme + prosthetic group.
4. Hexokinase — Mg”™ dependent.

Options :

68634035781. 1
68634035782. 2
68634035783. 3
68634035784. 4

Question Number : 46 Question Id : 6863409054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiad O 9 9y &1 9g9= Sl

1. O 9HR — U
2. BIaIg-angd — fohamsiiel USTgH + I.USey S7R/Siyal 4Tq 3199
3. TUITSIIEH — UeligH + Uidfes 998
4. BRI — M2~ fR

Options :

68634035781, 1

68634035782, 2

68634035783. 3
68634035784. 4

Question Number : 47 Question Id : 6863409055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The catalytic efficiency of an enzyme refers to

L. KCE‘I‘.

2. Ky

3. Keat' Ky
4. K-m,' Kcat
Options :

68634035785. 1
68634035786. 2
68634035787. 3
68634035788. 4

Question Number : 47 Question Id : 6863409055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UoleH &1 SoR®! gem J Afimm g

LK

cat
Ko

HoRe

Cat

| ]

Lr¥]

4. K /Ko
Options :
68634035785. 1
68634035786. 2

68634035787. 3
68634035788. 4

Question Number : 48 Question Id : 6863409056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong MarKks : 1

K,, of an enzyme - catalysed reaction is :
1. Substrate concentration at which reaction rate is half of the maximum.
2. Product concentration at which reaction rate i half of the maximum.

. Substrate concentration at which reaction rate is double of the maximum.

LN}

4, Maximum kinetic constant

Options :

68634035789. 1
68634035790. 2
68634035791. 3



68634035792. 4

Question Number : 48 Question Id : 6863409056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U@ UTsH Soild siftifpm sk Sare .
1. foramuR & wiwan. o W ififarar aR aiftream ot aneht gt 2
. I1E 1 Higall, or W 3ifferan &R st @1 omefl g1l &
3. foramuR &) wigan. o w s o=, sifisay o1 S et g

4. Jf¥Ean nids RRRIE

| ]

Options :

68634035789. 1
68634035790. 2
68634035791. 3
68634035792. 4

Question Number : 49 Question Id : 6863409057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the wrong statement about Penicillin.

1. It 15 an irreversible inhibitor

[ S)

It targets glycopeptide transpeptidase
3. It consists of a beta-lactam ring plus proline

4. It forms covalent bond with active site serine

Options :

68634035793. 1
68634035794. 2
68634035795. 3
68634035796. 4

Question Number : 49 Question Id : 6863409057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U & aR O 1Ted $YE &1 UgdHE SIU:
1. ORI U Srfop i Siakly® © |
2. UM, TS IUPES SUPS S ®f eRAIC (Ti8d) HIal o
3. ORI & v dfer-digen o + Wi giar g
4. WA, 94 & 9ftha we o= 9e9iel sTewl &1 8

Options :

68634035793. 1
68634035794. 2
68634035795. 3
68634035796. 4

Question Number : 50 Question Id : 6863409058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most abundant enzyme on Earth is

1. Carbonic anhydrase

[ E)

. Ribuloge 1. 5-bisphosphate carboxylase/oxygenase.
3. Acetylcholine esterase

4, Urease

Options :

68634035797. 1
68634035798. 2
68634035799. 3
68634035800. 4

Question Number : 50 Question Id : 6863409058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T IR TEY U IRl S T USTgH © -

1. PIE(-% TARIE S

2. IS 1.5 - [euwiehe safRics siaies

3. pdlersa@idd Uk

4. gRUS

Options :

68634035797. 1
68634035798. 2
68634035799. 3



68634035800. 4

Question Number : 51 Question Id : 6863409059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gmelin's test and Van den Bergh reaction are used for :

1. identification of bilirubin in serum and urine, respectively.

| ]

. identification of bilirubin in serum only.
3. identification of bilirubin in urine only.
4. identification of bilirubin in urine and serum. respectively.
Options :
68634035801. 1
68634035802. 2

68634035803. 3
68634035804. 4

Question Number : 51 Question Id : 6863409059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D Riemr 3R a9 37 o s &1 vah g §:
1. TafRrela 1 grorer: ARY Sik 17 § ygaH 33 & e
feciiefe o daa dia & ggaH o3 & fou
3. faciiola @1 a7 ¥ Ug=H &3 & o
4. Tociles ©f O 57 3R 9RA H UgaH A & [ag

b2

Options :

68634035801. 1
68634035802. 2
68634035803. 3
68634035804. 4

Question Number : 52 Question Id : 6863409060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are involved in buffering our blood system 7

1. Bicarbonate / Phosphate buffers

rJ

. Tris : Hel buffer
3. MOPs buffer
4. Caleium/ Magnesium buffers

Options :

68634035805. 1
68634035806. 2
68634035807. 3
68634035808. 4

Question Number : 52 Question Id : 6863409060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1
Fofaiad 5 9 & 8aR 39 19 & 34T ufaRiee (@mim) § gfffd g2

1, SEPIEE / Bidhe g5y
2. Tris : Hel WY
3. MOPs
4. pieygmy TRy a6y

Options :

68634035805. 1

68634035806. 2

68634035807. 3
68634035808. 4

Question Number : 53 Question Id : 6863409061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amino acid in renal tubular cells that forms ammonia. which is finally exereted as NH, ™ is ¢

[

. Agpaitate

| ]

. Glutamate
3. Agparagine
4. Glutamine

Options :

68634035809. 1
68634035810. 2
68634035811. 3
68634035812. 4



Question Number : 53 Question Id : 6863409061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qaP 1 AlcTepT BITSPI3H & a8 Sl 317 Sl SHI-a1 &G 8.5 Sdd: NH,” & &9 5 3dieid gl 6.
CREE

3, TERTH
4. QA

Options :

68634035809. 1
68634035810. 2
68634035811. 3
68634035812. 4

Question Number : 54 Question Id : 6863409062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rifampicin inhibits :

1. Beta subunit of prokaryotic RNA polymerase

| B ]

. Beta subunit of prokaryotic DNA polymerase
3. All eukaryotic and prokaryotic polymerases

4. RNA dependent DNA polymerase

Options :

68634035813. 1
68634035814. 2
68634035815. 3
68634035816. 4

Question Number : 54 Question Id : 6863409062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



REERE /@3S Pl 6

1, Hid e 3R U U Uidiias @1 diel 39-53T% P
Wi eife® ST OIS &1 &l SU-S&HIS B
3. 9t g SR bl s grams ®)
4. 3R TAL F v uidmS w5t

)

Options :

68634035813. 1
68634035814. 2
68634035815. 3
68634035816. 4

Question Number : 55 Question Id : 6863409063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The acid - fastness of mycobacteria is due to :
1. Pregence of mycolic acids in cell wall
2. Presence of peptidoglycan in the cell wall
3. Presence of glycoproteins in cell wall
4. Presence of glycolipids in cell wall
Options :
68634035817. 1
68634035818. 2

68634035819. 3
68634035820. 4

Question Number : 55 Question Id : 6863409063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HISH el B S T-BRe—d HT R &:
BRI il Argepiere sl B gulufd
BRI [FT H Uprgsag e o Surifd
3. 1T iRl | g HIcH $1 suiuld
4. it il H weg@ifais @1 sufufa

—

b2

Options :

68634035817. 1
68634035818. 2
68634035819. 3



68634035820. 4

Question Number : 56 Question Id : 6863409064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The branch of biology that involves creation of small living organisms like mycoplazma ete. is called as :
1. Biotechnology
2. Systems biology
3. Chemical biology
4. Synthetic biology
Options :
68634035821. 1
68634035822, 2

68634035823. 3
68634035824. 4

Question Number : 56 Question Id : 6863409064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sitafas= o1 ag wral oy Argsiared] ol 3ifd geg Foitdl &1 Jo- Iiifdd 3. Hean o:
1. ofg Uil

Rreng ol [9gM

b

3. IS SigiagE
4. B (H=Ie®) Sia fagm

Options :

68634035821. 1
68634035822. 2
68634035823. 3
68634035824. 4

Question Number : 57 Question Id : 6863409065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which group of the antibiotics inhibit translation by binding to the 50s ribosomal subunit?
1. Eryvthromycin. Chloramphenicol
2. Kanamyein, Neomycin
3. Vancomyein, Cycloserine
4. Kanamyvein, Vancomyein

Options :

68634035825. 1
68634035826. 2
68634035827. 3
68634035828. 4

Question Number : 57 Question Id : 6863409065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1

ﬁé@@aﬁﬁaﬂ)ﬁﬁ?mwmaﬂsas TU-THIS P Y AET HIB TG0 Bl
AHAI B 2

1. TRYUMTE A, FeRTpHIold
2. PSRy, FamgfE

3. PTG, HIEaaR
4. PAMIG A, TPIHGRA

Options :

68634035825. 1
68634035826. 2
68634035827 3
68634035828. 4

Question Number : 58 Question Id : 6863409066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong MarKks : 1
Given that AG = AH = TAS. with reference to it. identify the wrong statement ;
1. In exergonic reaction, AG i negative.
2. When AG is zero, the system is at equillibriun
3. AG must be positive for the reaction to be spontansous.
4. In exergonic reaction AG 1s always equals to 1.
Options :
68634035829. 1

68634035830. 2
68634035831. 3



68634035832. 4

Question Number : 58 Question Id : 6863409066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ofe : AG = AH=TAS €. T 39 U< & 7Tad HY= &1 9= BIols:
 Solerdt (umiH) sififesar 3. Ac BUTe® i g

2. 96 AG Y 5. a1 oF (e araar 5 g

3. W yafdaceeaw) sfifer & o Ac yare® g1 =@nfeu|
4, SEEETT (UaEEiE) AP aTH AG 953 1 §aT B

Options :

68634035829. 1
68634035830. 2
68634035831. 3
68634035832. 4

et

Question Number : 59 Question Id : 6863409067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The

Reaction 1 :

Glucose + P1 — Glucose-6-Phosphate + H,O

can only ocecur when the
Reaction 2 :
ATP — ADP +Pi

occurs. This is because :

1. The ﬂ.GO' of the reaction 1 is negative.

[ )

. The ﬂ.GO' of the reaction 2 is positive.

Lo

. The AGy of reaction 1 is positive and reaction 2 is negative.

=y

. The ﬂ.GOI of both reactions 1 and 2 are negative

Options :

68634035833. 1
68634035834. 2
68634035835. 3
68634035836. 4



Question Number : 59 Question Id : 6863409067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 :
Tl + Pi — @I - 6 BIBE + H,0 dhad aHi gl @l § od
ffHfopar- 2 -
ATP — ADP+P:EldI &
U1 SHfe § i
1. 3T 1 BT AG, BUTED g
2. HTHAT 1 BT AG, U= G
3. HTET 1 BT AG, ST § IR HNfHT 2 BT AG, HUTES gl
4. SURHTT 1 BT AG, 3R BT 2 BTAG, &I BUTES |

Options :

68634035833. 1
68634035834. 2
68634035835. 3
68634035836. 4

Question Number : 60 Question Id : 6863409068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Oxidation of one molecule of FADH; in the respiratory chain. forms how many molecules of ATP ?

1. 1 through complex I

| B

. 2.5 through complexes I and IV
3. 1.5 through complexes IT and TV
4. 2 through complexes I and III.

Options :

68634035837. 1
68634035838. 2
68634035839. 3
68634035840. 4

Question Number : 60 Question Id : 6863409068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4T #RGa1 T FADH, & U 0] & 10 T ATP & e 0] &l 52
1. PIiad (Tide) 19 S
2. DI (AN 1R IV 2.5
3. BT (AN 13RIV 1.5
4, TR T SR 111 4 2

Options :

68634035837. 1
68634035838. 2
68634035839. 3
68634035840. 4

Question Number : 61 Question Id : 6863409069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The breakdown of the long chain fatty acids to acetyl CoA via B-oxidation takes place in :

1. The mitochondrial matrix

| ]

. The endoplasmic reticulum
3. The mitochondrial inner membrane space
4. The eytosol

Options :

68634035841. 1
68634035842. 2
68634035843. 3
68634035844. 4

Question Number : 61 Question Id : 6863409069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI T b G S| BT p-HTRIBII GRI U d CoA T [0S BId &
1, i@ iraar @ e @feam |
. Sf=Twedl SiifeTenT H
3. Qg i5ar & 3: Ereel & Red e o
4. ggcia §
Options :
68634035841. 1

68634035842. 2
68634035843. 3

[ ]



68634035844. 4

Question Number : 62 Question Id : 6863409070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During glycolysis, conversion of 1 mele of fiuctose 1. 6 - bisphosphate to 2 moles of pyruvate. leads to the
formation of :

1. 2 moles of NADH and 4 moles of ATP

[ )

. 1 mole of NADH and 1 mole of ATP

. 2 moles of NADH and 2 moles of ATP

L ¥]

4. 2 moles of NADH and 2.5 moles of ATP

Options :

68634035845. 1
68634035846. 2
68634035847. 3
68634035848. 4

Question Number : 62 Question Id : 6863409070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAEGIAEY | 1 °Hid Waeid 1. 6 - [aSprhe & 2 Jid I0dc 5 GRG0 & SRA IT98d ¢ ;
1. NADH & 2 HIT 31X ATP & 4 H1d

2. NADH &1 1 Hid 3R ATP &1 1 HId
3, NADH & 2 A1d 3R ATP & 2 Aid
4. NADH & 2 H1d 3R ATP & 2.5 A1

Options :

68634035845. 1
68634035846. 2
68634035847. 3
68634035848. 4

Question Number : 63 Question Id : 6863409071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concentration of OH™ in a solution with HY concentration of 1.3 x 107" M is :

1.7.7 %1072 M

| ]

TO0x 107120
3.7.7x 107 M

4.1 =107 M

Options :

68634035849. 1
68634035850. 2
68634035851. 3
68634035852. 4

Question Number : 63 Question Id : 6863409071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U faau food gt &1 9igdl 1.3 < 1074 M 8 o 599 Ol & gigal aiil:
LTI %A
2.7.0x 1072 M
3.7.7x 107U M

4.1 %107 M

Options :

68634035849. 1
68634035850. 2
68634035851. 3
68634035852. 4

Question Number : 64 Question Id : 6863409072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IgM is a pentamer. Upon visualisation of a pure IgM by electrophoresis on a reducing polyacrylamide gel. the
number of protein bands to be visible on the gel would be :

1.

n

| B8]

.10

4.4

Options :
68634035853. 1
68634035854. 2



68634035855. 3
68634035856. 4

Question Number : 64 Question Id : 6863409072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IgM U Uaaep (UeR) § | SOl (Regi) uidiusigaaigs ofd UR sude (BRI GRI, U6
[0S 1eM & O H T30 WIEH ufgprafl o 9wl gl .

4.4

Options :

68634035853. 1
68634035854. 2
68634035855. 3
68634035856. 4

Question Number : 65 Question Id : 6863409073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A plot between the © and w dihedral angles of a peptide bond 1s called as :

1. Hydropathy Plot

[ ]

. Ramachandran Plot

3. Volcano Plot
4. Both Hydropathy and Ramchandran Plot

Options :

68634035857. 1
68634035858. 2
68634035859. 3
68634035860. 4

Question Number : 65 Question Id : 6863409073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS YIS S A= &l o 3R  fgdd S0 & 99 &1 31 & Fed o

1. BIE Sl 3= (wile)

2. THT5A Wi

3. SATATE! (Glehl) wie

4. BTSSR R IS wile g1

Options :

68634035857. 1
68634035858. 2
68634035859. 3
68634035860. 4

Question Number : 66 Question Id : 6863409074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Protein folding is essential for structure and function is still an unresolved problem in biology,
Protein folding problems lead to aggregation and is a cause for many diseases :

Reason R : Levinthal's paradox is a theoretical caleulation of the time needed for a protein to fold.
Accordingly. a polypeptide may take billions of years to fold if all the possible conformations are exercised
during protein folding.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation A

b

. Both A and R are correct but R 18 NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R 1s correct

Options :

68634035861. 1
68634035862. 2
68634035863. 3
68634035864. 4

Question Number : 66 Question Id : 6863409074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=19 Bl HU AU U §. TP SITUSUT (Assertion A) & w0 B [ARGd § I §IRT 3UD BRI (Reason R) B
O H:

HIUDHYT A: IR R Bl & [0 UidE &1 ga= 9= . {2 i g5 ndl ao oila fage &1
HAGe 91§ | 9IS ae & PRUI SR &1 FHT 39 §idl § 3R $H® BRI 3P AT 8 |

HIROT R: Afda fERI4THTE Ul 9o & U awde g B Jaif-w UM 8 | HIEH 900 & SRH
gfe guft dya =yl =1 var § i 9 O U Uldygs & fgag § faferms of v g@d 71

SURIG Y & AT H, i AU U fdeedl § ¥ Ia8 Iugad 9tk &1 98- HIoIT:
1. A SRR G Tel € SRR, A S Tol SR &

A 3R R &I el § AR R, A D] e AR 61 &

ATfg TR ud TR

4 AGEI TR g AfPTR WEI ©

Options :

68634035861. 1
68634035862. 2
68634035863. 3
68634035864. 4

[ B

LN ]

Question Number : 67 Question Id : 6863409075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements ; One is labelled as Assertion A and the other iz labelled as Reason R,

Assertion A : Prokaryotes have three RNA polymerases. Prokaryotic RNA pol IT synthesizes ribosomal RNAs,

Reasons R : In Eukaryotes RNA Polymerase II gynthesizes mRNA and is sensitive to low concentration of a-
amanitin.

In the light of the above statements. choose the most apprapriare answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both a and R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct.

4. A is not correct but R is correct.

Options :

68634035865. 1
68634035866. 2
68634035867. 3
68634035868. 4

Question Number : 67 Question Id : 6863409075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1



=19 31 PU AU U §. TP SITUSUT (Assertion A) & w0 B [AR&d § I §IRT 3UD DRI (Reason R) B
O H:

STUSYT A: WHRAEH H diF 3R.UA.U. UldiEe gid § | WibRaifce® SR, U Uit 1.
TSEIEHY HR.0A.0. GYeiitd Sdr

PRUTR: ¢ T SR, IeHRS I mRNA SRS o=l 3R o-UHHlEA 1 oied digal & Uld
adi grar g
SURIG Y & ATipH, Hid AU U fdeedl © ¥ Ia8 Iugad 9tk &1 98- HIoIu:
1. A SRR G Hgl & SIR R, A Tl ol AT §
A SRR ZH 98 € IR R. A D TS ARHT 6l &
AT AT R AR

4 AT TR g AR TE

Options :

68634035865. 1
68634035866. 2
68634035867. 3
68634035868. 4

[ B

LN ]

Question Number : 68 Question Id : 6863409076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : Klinefelter's syndrome have minor phenotypic anomalies with small testis and enlarged breasts.
These individuals have 47 chromosomes with 44 autosomes plus XXY.

Reason R : Males with XYY syndrome have two Y chromosomes. Such individuals have anti social behavior
and aggression. Their frequency is approximately 1 to 650,

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[ E]

. Both A and R are correct but R iz NOT the correct explanation of A
3. A is correct but R is not correct

4. A 15 not correct but R is correct.

Options :

68634035869. 1
68634035870. 2
68634035871. 3
68634035872. 4



Question Number : 68 Question Id : 6863409076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 31 YA RU T B, U 31U (Assertion A) & ¥ H (ARG ol THRI 3HP BRI (Reason R) B
FO0 o

HFUBYT A: FaTETheex RIS B, oicd A&0 ReUT (BT fue) fawwdr gt § o ©1e gy 3R agr
GO &Y | 3 gl H 47 097 810 ©. f5s 44 3ifeih orgm iR xxy 8 €1

HRUIR: XYY a4 3 a1 v UGE §id ¢ | U safaaai § i sagR 3R SUal UTg oIl ¢ | S9!
3fTa< 650 ¥ 1 PG 5l

SURIT DY & ATl d, -1 3T U fdeeyl § 9 gad Iugad TR &1 99 BIfT;
1. A SR R G111 HEl § 3IR R, A D! Uel RS §

A SRR EHI U6 § HRR. A D! Hel RS el §

AT R AT R A T ©

L ATE TR g Ul R WET®

Options :

68634035869. 1
68634035870. 2
68634035871. 3
68634035872. 4

(]

L)

Question Number : 69 Question Id : 6863409077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R.

Assertions A : Protein kinases catalyze the transfer of gamma (v) - phosphoryl group of ATP to proteins.
Serine, threonine or tyrosine are the general amino acids that are phosphorylated.

Reason R : Phosphorylation of proteins by protein kinases makes them aggregated and non-functional with
subsequent degradation.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ B

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct

Options :

68634035873. 1
68634035874. 2



68634035875. 3
68634035876. 4

Question Number : 69 Question Id : 6863409077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 gl YA QU B, U 310U (Assertion A) & ¥ T (ARG ol G-I SHP BRUI (Reason R) &
EOH.

SfUFYT A: UIcH D150, ATP & HT y-BRERST 998 & MR & 0= 3 Iafd o g1 T,
Y3 I SR I BIEpREe 8 ard SHH| 3 & |

HIRVT R: UIET DIg-1o GRITICT ST HIERRISAH 51 T 98 FHfed SR fehariie 81 97 €, $i}
15 5 3P HHteru gl S gl

SIRIF BYF & ATIPH, A1 3T 70 fdeedl ¥ § 9 Iugad SR &1 99 ST
1. A SR R S TEl € 3R R A D U5l R §

A SRR EHI 8l § didr R A D! UEI RST8] &

ATfit TR ud TR

A¥EI TR R AfPTR WG §

Options :

68634035873. 1
68634035874. 2
68634035875. 3
68634035876. 4

[ )

L ¥]

=y

Question Number : 70 Question Id : 6863409078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One 1s labelled as Assertion A and the other is labelled as Reason R ;

Assertion A : While the pK, of a free lysine is 10.5, the pK, of lysine decreases to 6.6 when present in the

active site of Acetoacetate decarboxylase.

Reason R : The decreased pK, of lysine in the active site is due to the electrostatic effect of nearby positive

charges.

In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A i1s not correct but R is correct

Options :
68634035877. 1



68634035878. 2
68634035879. 3
68634035880. 4

Question Number : 70 Question Id : 6863409078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=19 Bl HU AU U §. TP SITUSYT (Assertion A) & w0 B [ARAd § Il §IRT 39D BRI (Reason R) B
O H:

SfFYT A: T TEHIA P pK,, 10.5 8. 1S 78 THIe] Tice Sipraiaiers & iy ®d W el dl
Sg®m] OF Ueait 6.6 Y8 Tl e

PRI R: Tichd VYT U AI5HI DT YT g3 pK,. FHITRY Y-S AN & Saide L[ UHIG & PRI

gl e |
SURIad HY & ATbH, i fU Y [deedl & 8 998 3ugad Gk &1 99 SHifoll:
1. A SR R 31 98l § AR R. A BT UEI RS &
2. A SRR G 961 € SR R A DI U6l O 761 ©
3. ATEI S AP R GET A
4 ATEI TE g Al R WE €

Options :

68634035877. 1
68634035878. 2
68634035879. 3
68634035880. 4

Question Number : 71 Question Id : 6863409079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :

Assertion A : Sum of all the proteins functioning in a given cell is called the proteome : Proteomics is the
systematic characterization of this proteome under a given condition.

Reason R : Expression of genome under a particular condition and its translation is the basis of cell’s
proteome,

In the light of the above statements. choose the mosr appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A 1s not correct but R 1s correct

Options :



68634035881. 1
68634035882. 2
68634035883. 3
68634035884. 4

Question Number : 71 Question Id : 6863409079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=19 gl HuA AU T B, T SITU@UA (Assertion A) & &0 T [REd § T GIR1 39 DRI (Reason R) B
O H:

TPy A: 21 175 Sif¥ier 5 gt uidi ot fhafafia) o an vifeas searar g1 < uhfufa g gg
Hifedy &1 wite aeie guig difeaiffag g1

PRI R: fagw gifufs & SiHm &1 sfireafag ok sge1 wurmo S & Hifeds &1 31uR el el
SURIad HY & el d, i f3U U fdeedl o 3 9 Iugdd Ii &1 99 Hifolt:
1LASRREA Tl & AR R AT Tl AT &

| )

AIRRIT IS E AR R AT Gel IS R ©
3. ATEI e OfPTR O Rl ®

AL AT TR e AP R TE B

Options :

68634035881. 1
68634035882. 2
68634035883. 3
68634035884. 4

Question Number : 72 Question Id : 6863409080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R:

Assertion A : Treatment of monosaccharides with sodium amalgam reduces their aldehyde and keto groups to
corregponding acid :

Reason R : D-Dulcitol and D-Sorbitol are the corresponding aleohols of D-galactose and D-glucose.
respectively.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R 1s correct

Options :

68634035885. 1
68634035886. 2
68634035887. 3
68634035888. 4

Question Number : 72 Question Id : 6863409080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 gl $Y= QUYL €. U 31 UH (Assertion A) & ¥4 1 [A1REd € ol TR 36 BRI (Reason R) B
FOH:

STUBYT A: THHDRISSH B Aisq T (YN & 1Y ITER Td 37 § 3796 Uesees R
@Ic] GHgl H TRl ¢

HRUI R: D-3Ield 3R D-HIfWcId & ol Y DAedes 3R DT o & H7d e 6d o
SURIG] YA & el B, i fau Y fawedl © 9 9ad SUged ST &1 94 SIuIT:
1. A SR R 31 81 § 3R R. A I YS! ARAT 8
A SRR 2F 981 § SR R. A D! Uel RS T8 &
AGE AR TR A
AFEI el g AT R WEl ©

Options :

68634035885. 1
68634035886. 2
68634035887. 3
68634035888. 4
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Question Number : 73 Question Id : 6863409081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Malate. Fumarate and succinate precede the formation of oxaloacetate in the citric acid eycle. Find the option
which shows correct order of their formation in the citric acid cyele.

A, Malate

B. Fumarate

C. Oxaloacetate
D. Succinate

Choose the correct answer from the options given below :

1.D,BAC

[

.D.B.C,A
3iB.D.CA
4 B.D.A.C

Options :

68634035889. 1
68634035890. 2
68634035891. 3
68634035892. 4

Question Number : 73 Question Id : 6863409081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g o 9 1 Hoje, WERe 3R afag-e, siied ufice ¥ ud & o | fau e fdsedl § 9 39
ey o1 9g Hifo fS98 et i 9% 1 379 91 31 Uol ®F a1 T 8l

A feu U [deedl | O Yl 3tk &1 994 BIfol:

1.D.B.A.C

[ )

D, B, C.A
3B.D.CA
4B.D.AC

Options :

68634035889. 1
68634035890. 2
68634035891. 3
68634035892. 4

Question Number : 74 Question Id : 6863409082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Phosphoryl transfer reactions are essential for the energy content of a cell. Find the correct answer in which

the following phosphorylated molecules have been arranged in a decreasing order of their phosphoryl transfer
potentials

A Adenosine triphosphate

B. 1. 3-bisphosphate glycerate
C. Phosphoenol pyruvate

D. Glucose - 6 - phosphate

E. Glucose - 3 - phogphate

Choose the correct answer from the options given below :
1.C,B.AD.E
2B, CADLE
3.B;C,B;AE
4.C.B.D.AE
Options :
68634035893. 1
68634035894. 2

68634035895. 3
68634035896. 4

Question Number : 74 Question Id : 6863409082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

111 B FHoll g & oy BpIRe wFEiaRu ififean srawe ¢ | Hafafad piesiiiasa s
61 39 BIEpIe RIFIGRUT &Hdl & 92d B0 & IR IdRyd BT

C. BIEhigd gig=de
D. /&I - 6 - BIEhE
E. /&I - 3 - BIEhe

-t fau T fowetl § T Uet SR @1 99 B

e B ABE
2.B.CADE
3B.C.D.AE
4. C.B.D.AE

Options :

68634035893. 1

68634035894. 2

68634035895. 3
68634035896. 4



Question Number : 75 Question Id : 6863409083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In analogy with central dogma of biology. how will you arrange the following omics in a correct sequence :

A. Metabolomies

B. Proteomics

C. Genomics

D. Transcriptomics

E. Phenotype or phenomics

Choose the correct answer from the options given below :
1.B.C.D.E.A
2.C.B.D.A.E
308 AE
4. C.E.B.A.D

Options :

68634035897. 1
68634035898. 2
68634035899. 3
68634035900. 4

Question Number : 75 Question Id : 6863409083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oiig faem & g fgrd (ded sran 3 & ey Fafeiad siidied weel oI pHr IR saffid HIfet:

= feu U faoredi § O TEl 3R &1 994 Hifol:

1.B.C.D.E.A
2 C.BDAE
3.C.D.B.A.E
4.C.E.B.A,D

Options :

68634035897. 1

68634035898. 2

68634035899. 3
68634035900. 4



Question Number : 76 Question Id : 6863409084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nucleotides. Nucleosides. purines and pyrimidines are the building blocks of DNA and RNA. Based on their
molecular weight, arrange these molecules in an ascending order.

A. Purine

B. Nucleotide
C. Pyrimidine
D. Nucleoside
E. Phosphate

Choose the correct answer from the options given below :

LA C I B E
2AB.CDE
3.E.A,D.B.C
4 E.CADB

Options :

68634035901. 1

68634035902. 2

68634035903. 3
68634035904. 4

Question Number : 76 Question Id : 6863409084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iFaseR s Y. glen Mg g, TR SR RIS S1.UA.T 3R SR AL $ YR W™ 5| SHR &
ded ®H H 31 IS Ul Bl HHES I

o
g.qﬁmﬁaﬁs
c. R

D. s EEs
E. BiEhe
- feu g Ao etl 7 8 Hel SR a1 99 DI

1.LACDB.E
248, D E
3R AR B E
4 EC.ADB

Options :

68634035901. 1

68634035902. 2
68634035903. 3



68634035904. 4

Question Number : 77 Question Id : 6863409085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reverse transcriptase is used for synthesizing cDNA from RNA. Which of the following option represents the
correct order of the given steps?

A. Annealing of the oligo dT primer to mRNA

B. DNA polymerase [ and dNTPs form ds DNA

C. Reverse transcriptase forms the complementary single stranded DNA
D. mRNA is degraded with alkali

E. Downgstream analysis of dsDNA

Choose the correct answer from the options given below :
1.LA.C.D.B.E
ZAEDB.C
3.D,A,C.B,E
4. B.C.A.E.D

Options :

68634035905. 1
68634035906. 2
68634035907. 3
68634035908. 4

Question Number : 77 Question Id : 6863409085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cDNA ¥ RNA U0l § faei| sroas (Rad ity o1 wanT fo ofdl § | =i &1 7 foearsi &1
el 3IpH § S0aied S

A, HTET AT IYPHDT (WSHT) BT mRNA H ATOHL (SFIeT)

B. DNA UTSTERS I 3R dNTPs ¥ ds DNA &1 g4

c. faei scEs (Rad CiufhPd) 3 e Uad Toid DNA B &1
D, 8RE gRT mRNA & JAYdc

E. dsDNA 7 3-I0aTg faseisu

- fou e fawedt 7 § w6t SR &1 =997 S

1.A,C.BB.E

2.A.E.D.B,C
3.D.AC.B.E
4. B.C.A.E.D

Options :
68634035905. 1



68634035906. 2
68634035907. 3
68634035908. 4

Question Number : 78 Question Id : 6863409086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA cloning is an essential tool in recombinant DNA technology. Arrange the different steps of DNA cloning
in proper sequential order.

A Restriction digestion of the msert and plasmid.

B. Selection of the host cells or transformants having the recombinant DNA
C. in vitro DNA ligation

D. Transformation of the ligated DNA.

E. Confirmation of recombinant DNA by sequencing.

Choose the correct answer from the options given below :
1,B,C.D.A.E
22ADCEB
3.A,C,D.B.E

4B, ADC.E

Options :

68634035909. 1
68634035910. 2
68634035911. 3
68634035912. 4

Question Number : 78 Question Id : 6863409086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA INTS G@+1P H DNA -1 Ud Sa¥g® WIeH g | DNA Fali-71 & FafaRad ol o 3fa
3JepH H ogaflud ifom|

A, IF9Y (399) IR @ifors &1 ufdgys 9=

B. GRINTS S1.UA.U. aTdl wyiaRall a1 gisl sif2ieetail &1 97H
C. SLEAL. &1 9 (&7-fagh) H e

D. 58 dlel DNADT EYiaiu

E. S HU GRI FaATS S1.04.0. & gy

- feu e faw et & ¥ w6t IR @ 9a S

1.B.C.DLA.E

| ]

.A.D.C.E.B
3.A.C.D.B.E

4 B.A.D.C.E



Options :

68634035909. 1
68634035910. 2
68634035911. 3
68634035912. 4

Question Number : 79 Question Id : 6863409087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hydrophobic nature of amino acids affects the tertiary structure of proteins. Which of the following option
ghows the given amino acids in decreasing order of their hydrophobic character ?

A Leucine

B. Phenylalanine
C. Glycine

D. Histidine

E. Lysine

Choose the correct answer from the options given below :
1LA.C.E.D.B
2.B,A.C.D,E
3.B,E.D,CA
4 A.B.D,C.E

Options :

68634035913. 1
68634035914. 2
68634035915. 3
68634035916. 4

Question Number : 79 Question Id : 6863409087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TIEH 3t g a1 &1 Sl 3] B STadE Uold UHIiad Sl ¢ | FHafeiad s sl &
31! wEfaRie] Ul & "ed vy H oyaieyd Sife:

A TgHH

B. fsH1Ed UaHH
C. WsdH

D. exsH

E. A9

- feu e faw et 7 § w6t SR @1 99 DI

1.LA,C.B.D.E

2.B,A.C.D,E
3.B.A.D.C.E
4.A.B.D.C.E

Options :

68634035913. 1
68634035914. 2
68634035915. 3
68634035916. 4

Question Number : 80 Question Id : 6863409088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Cooperativity in receptor - ligand interaction causes large change in receptor activation with
small change in ligand concentration.

Statement II : In amplification. the enzyme associated with signal receptor is activated which in turn activates
many downstream enzymes in a o called enzyme cascade.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement [ and Statement II are false
3. Statement I 15 true but Statement II 15 false
4, Statement I 15 false but Statement IT is true

Options :

68634035917. 1

68634035918. 2

68634035919. 3
68634035920. 4

Question Number : 80 Question Id : 6863409088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TR FuT U MU E:

HYF 1: TE1-fos UREie o & gewiiar. forfs gigar ¥ sic uRadd & Oy urel i 8 85
gRad &1 SR &l &

HY I1: UGt 5. Tobd U1E] A 1 GolsH Al gial 8. o 9adl 8 U quisiid UssH $ibs J o
SR Y (SFHaTE) UaTg| & Hithd oal g |

IR BYF o AP 5, Hid (U T [dbedi § 4 gl 3t &1 94 Bl
1. PYTI RN T E

2. BYT IR 11 ST 3T ©

3. PYTI T e, AfpT PUT I 3T ©

4. PYTI TS, AT oy N I &
Options :
68634035917. 1
68634035918. 2

68634035919. 3
68634035920. 4

Question Number : 81 Question Id : 6863409089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement I : Phototrophs and chemotrophs derive their energy from sunlight and chemical fuels.
regpectively.

Statement IT : Phototrophs and chemotrophs cannot be autotrophs but only heterotrophs.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement II are false
3. Statement I 15 true but Statement II is false

4. Statement I is false but Statement I is true

Options :

68634035921. 1
68634035922. 2
68634035923. 3
68634035924. 4



Question Number : 81 Question Id : 6863409089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B AR IS AEAL R 1

HYF I: WU R IHU SOl Hoil puw: g2 & U1 3R IMEHS 547 4 T80 $Rd ¢ |
FU I1: TS iR i & st 981 € 9od SR dad [Guaul g g

SR HYF & AAID 1, Aid U U fowedi § ° 98! 30 &1 994 Difor:

1. BYT1 AR I S T &

2 BUA IR I ST T

3. PYT I A S, AT YT I ST ©

4. PYT IS, T PYT I 9§

Options :

68634035921. 1
68634035922. 2
68634035923. 3
68634035924. 4

Question Number : 82 Question Id : 6863409090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : In all naturally ocewrring 20 amino aecids, both carboxyl and amino groups are bonded to the o-
carbon.

Statement II : According to organic chemistry IUPAC nomenclature, a-carbon 13 also the C-1 carbon of an
amino acid.

In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement [ and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false
4. Statement [ is false but Statement IT is true
Options :
68634035925. 1

68634035926. 2
68634035927. 3



68634035928. 4

Question Number : 82 Question Id : 6863409090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B AR IS AEAL R 1

HYF I: WHId® 4 H UL S ardd 9 20 ST Sl 4 praliaae s Al 958, & o Bla- 4§
HEY T 5 |

?:FQF%]I: FIAD LI B [UPAC ATHBRY] UG & STHR U ST 3 Bl o Plad C-1 Pla il
I

IRITT HYF & AP &, Aid [0 T fawadi § 9 98! 3R &1 994 Difa:

1. PYTI ARSI T &

2 BYT IR 11 SHT 3T ©

3. PUT I e, AT PUT I ST &

4. FYTI IS, T HYT I 9 8
Options :
68634035925. 1
68634035926. 2

68634035927. 3
68634035928. 4

Question Number : 83 Question Id : 6863409091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : The peptide bond Cu-C-N-Ca present in proteins is rigid and planar.
Statement IT : Proteins are highly dynamic and undergo large conformational changes.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II 1s false

4. Statement I 15 false but Statement II is true

Options :
68634035929. 1



68634035930. 2
68634035931. 3
68634035932. 4

Question Number : 83 Question Id : 6863409091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B AR IC A CAL R I
PYF L U1 H JUfRT GPI5 8 AT Ca-C-N-Co €6 3R @R 64 8
YA I1: UIEH 3afds niazia gid € iR 399 98 9= uumas uivad- eid 38d o
IR HYF & AAID 1, Aid [Gu T fowedi § O 98l 3t &1 994 Difu:
1. BU 1 IR 1 ST TA ¢
HY I AR I EF SR &

PYT 1 T 8, AT BYTII 3T 8

| o]

LN

4. PYTI T B, AfpT YT I TT &

Options :

68634035929. 1
68634035930. 2
68634035931. 3
68634035932. 4

Question Number : 84 Question Id : 6863409092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Major Histocompatibility Complex (MHC) is present on the cell surface of T-cells for antigen
recognition.

Statement IT : During organ transplantation, the major Histocompatibility Complex (MHC) is mvolved in
allograft rejection.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement [ and Statement IT are true

[ ]

. Both Statement [ and Statement II are false
3. Statement I 1s true but Statement IT is false
4. Statement I is false but Statement II is true

Options :

68634035933. 1

68634035934. 2
68634035935. 3



68634035936. 4

Question Number : 84 Question Id : 6863409092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR s Ry E:

U I: T8 b JIedl SIIad (MHC). Uide &1 UgaH & [ -1l & SIfe Jdg o
SURA Bl

%ﬂ:ﬁﬁﬁw%w.&mﬁﬁq@@mﬂaa@ﬂﬁﬁwmwmﬁﬁﬁ
|

IR BYF & AP 1, Aid G0 T fawedi § 9 981 3R &1 994 Difo:
1. YT AR SH I &

2. FUTI AR 1 EHT ST 8

3. PYTI A B, AfpT PUT I 3T ©

4. PYTI TS, AT oy NI ©

Options :

68634035933. 1
68634035934. 2
68634035935. 3
68634035936. 4

Question Number : 85 Question Id : 6863409093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Chymotrypsin hydrolyzes peptide bond through the formation of a transient covalent acyl-
enzyme intermediate.

Statement IT : This type of mechanism in enzyme catalysis i3 operative in all the enzymes in biology.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are false

3. Statement [ is true but Statement II is false

4. Statement I is false but Statement IT 1s true

Options :
68634035937. 1



68634035938. 2
68634035939. 3
68634035940. 4

Question Number : 85 Question Id : 6863409093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B AR IS AEAL R 1

PYA L PO, UPES 84 &1 3Tde U HRR Juad! He-daiae Usd Uusd & 1164 &
ey § FRAT B

YA 11: Siafay= 8 Togd ISR 3 59 YR &1 [haraly g tesH & afpg s g
IR HYF & IS H, Aid G0 T fawedi § 9 9ol 30 &1 949 Difug:
1. DY ARSI T E

2. FUTI AR I EHT ST B
3 FYTI g 2. AT HYUT 1 ST &

4. U OIS, A PU I I ©

Options :

68634035937. 1
68634035938. 2
68634035939. 3
68634035940. 4

Question Number : 86 Question Id : 6863409094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Sanger's chain termination method is used for sequencing of a single stranded DA by using
nucleotides and short DNA stretches.

Statement IT : Sanger's protein sequencing method uses 1-fluoro-2, 4-dinitrobenzene. dansyl chloride and
nucleosides for protein sequencing.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement [ and Statement IT are true

[ ]

. Both Statement I and Statement II are false

3. Statement I is true but Statement II 1s false

4, Statement I is false but Statement II is true



Options :

68634035941. 1
68634035942. 2
68634035943. 3
68634035944. 4

Question Number : 86 Question Id : 6863409094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR sy U MU E:

HYF I fFaseZsd R 7Y DNA EUS] & gRI YR i 4Ea1 JHUA &1 &1 7017 Uhd t=®
LA H gmau & O e e g

FYTIL: UITH & ST & [0, TR 31 AdH Hpau [&afd & 1-wiRI, 2.4 SEARcld6H, a-9gd
aﬁlﬂaﬁaﬁ?qiﬁaaﬁ?r@mm%mam%l

IR BYF & AP 1, Aid G0 T el § 9 9ol 3 &1 9094 Difog -
1L YT ARSI I ©

2 FYTT AR SHT ST E

3. PYTI AR, AfbT YT 11 3T &

4. DY 3T 8. AP BUT I I &

Options :

68634035941. 1
68634035942. 2
68634035943. 3
68634035944. 4

Question Number : 87 Question Id : 6863409095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is true about bacterial DNA-dependent RNA Polymerase.

A. It is an oligomer of approximately 400KDa.

B. Its beta(p) subunit together with Mg~ converts ribonucleotides into RNA.
C. g-amanitin strongly inhibits the enzyme.

D. The enzyme can also form DNA from RNA.

Choose the most appropriate answer from the options given below :

1. B and C Only

2

.Cand D Only

3. Aand B Only

4. A B.and D Only
Options :
68634035945. 1
68634035946. 2

68634035947. 3
68634035948. 4

Question Number : 87 Question Id : 6863409095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SitaTurdta St U9 U 3meTid 3R U9 U Uit & aR & o1 981 62
A. U% 3HMT: 400KDa &1 UH SR g1
B. SH®! dicT (B) 34 S@Tg M~ & H1Y |l (p) Asal-giaasiergsd & RNA H giafdd &t 3

C. o-TRAEH Tear § Uonsy &1 Ry SRl g |
D. Ug UGSH RNA T DNA i g1 IHar gl

- fau T fow el 7 8 el G &1 =g Sl
1.%ad B AR C

g C HRD

Had AR B

4. HaA A, B3R D

[ ]

L %)

Options :

68634035945. 1
68634035946. 2
68634035947. 3
68634035948. 4

Question Number : 88 Question Id : 6863409096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the respiration of two proteins with same melecular weight, which of the following techniques could be
used :

. SDS-PAGE

. 2D-SDS-PAGE

. Mass spectrometry with liquid chromatography.
. Gel filtration.

. Gel filtration and SDS-PAGE.

5B M Bl v =

Choose the correct answer from the options given below :
1. E. A Only
2. A D Quly
3.A. B Only

4. B and C Only

Options :

68634035949. 1
68634035950. 2
68634035951. 3
68634035952. 4

Question Number : 88 Question Id : 6863409096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH SU[HR aTclt &1 Wi & JUadhul & fou Hafiiad & 9 S FRl adb-i® 3O ol 6:

A SDS-PAGE
B. 2D-SDS-PAGE

C. 54 SHIHCUG! & WY FoaHM WagHH
D. old fAede
E. OId [H&e 3R SDS-PAGE

i U U fdeedl § ¥ 9l 3R &1 904 Bl
1, Pad E R A

. Had A AR D

3. %dd A 3R B

4. PaEB IR C

Options :

68634035949. 1
68634035950. 2
68634035951. 3
68634035952. 4

| ]

Question Number : 89 Question Id : 6863409097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Hydrophobic effect has a major role in the stabilization of three dimensional structure of proteins. Which of
the following amino acids form part of this effect :

A. Glycine. Alanine. leucine

B. Valine. Methionine, Isoleucine

C. Tryptophan, Tyrosine. Phenylalanine
D. Tryptophan. Proline. Phenylalanine
E. Tyrosine. Serine, lysine

Choose the correct answer from the options given below :
1. A.B.D Only
2. A B Only
3.C.E Only
4. E. B Only

Options :

68634035953. 1
68634035954. 2
68634035955. 3
68634035956. 4

Question Number : 89 Question Id : 6863409097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIETH 1 S 91 & RRewor o seniiRs gura o mgdl e §. Fafaied § 9 sH-eHE 9
S 36 Y YUIE ST UFT&1d & -

A, T, T, Wb

B. 3. HIAHH., sgdegs=

C. feuh=. TR, fhgaua-E
D. feuits. Uiel=, fhgeu-ie

E. TR, IR, agdE

-4 fqu T fow el 7 ¥ Tl S @1 98- Sl
1.%dd A. B 3R D

T A IR B

3.%ad C AR E

4. PIUE R B

Options :

68634035953. 1
68634035954. 2
68634035955. 3
68634035956. 4

{ R ]



Question Number : 90 Question Id : 6863409098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sickle cell anemia causes sickling of the RBCs. Which of the following is not correct for the disease 7

A. Haemoglobin forms large aggregates.

B. Disease does not affect the oxyhaemoglobin but decreases solubility of deoxyhaemoglobin.

C. The enhanced aggregation propensity is due to the hydrophobic effect of the underlying mutation.
D. The patients are more prone to malaria.

E. The disease 1s not curable

Choose the correct answer from the options given below :
1. A.B. C Only
2.C.D.E Quly
3.D. E Oaly

4.B. C Only

Options :

68634035957. 1
68634035958. 2
68634035959. 3
68634035960. 4

Question Number : 90 Question Id : 6863409098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&3 BITDT SRaar 4 SR, 31 srafa sitmreR g1 ol 81 59 W & aRr § Fafafgd § 9 &H-
I Het el 82

A e 93 =1 g1 5 |

B.ﬁﬂgﬁ SR 0 g 9HTa Tol oidl. IR S -HaieHrariad o ga-=iiad &1 &l
BRI

C. 931 53 99 Y9 BT PRUI, IARTAH & gRI FATHT JHE BT 5 6

D. It B HARET §1F 1 HHIGT 24 il B

E. 39 &1 3Y9R el ol Uil g |

-4 fau e fdm el § 8 T8t SR o1 98 S
1. BaAAA. B 3R C

P C.D AR E

3.%au D HRE

4. HaAB AR C

Options :
68634035957. 1

{ R ]



68634035958. 2
68634035959. 3
68634035960. 4

Question Number : 91 Question Id : 6863409099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements together describe the integral membrane proteins :

A. Form main component of the biological membranes

B. Are soluble in aqueous solutions

C. Mostly composed of polar amino acids and are lysine rich.
D. Are soluble in sodium dodecyl sulphate (SDS)

E. Form aggregates in aqueous solutions.

Choose the correct answer from the option given below :

1. A.D.E Only
2.C.D.E Quly
3.B.C.D Only
4. A.D. E Only

Options :

68634035961. 1

68634035962. 2

68634035963. 3
68634035964. 4

Question Number : 91 Question Id : 6863409099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1

Fafeiad 4 9 o H-3 SY= 9gad U 9 =R (§HY) Riee UidH &1 sifieed $d g 2
A OIfae f3reerdl &1 5 SUFT 81 ¢ |
B, weii faere! & gesia sid &1
C. SUPT: TS G5 814 § SR Ydig sl s S 1 8l & |
D. HIfeTud Siedsd gahe (SDS) B g 2iid gra |
E. Sty faaa-! & 9= §491d § |
A1 fau Tt faeedl § O U8l SR &1 994 DIl
1. HAAA.D IRE
. $ada D, E 3R C
3. HaAB. C ARD

4. FGTA, D IIRE

{ ]

Options :



68634035961. 1
68634035962. 2
68634035963. 3
68634035964. 4

Question Number : 92 Question Id : 6863409100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are true for Nucleosomes 7

A. Protein bodies

B. Protein - DNA complexes

C. Nucleic acids are covalently linked to proteins

D. Protein octamers are wrapped with approximately 200bp of DNA.
E. 10 nm fibers for DNA packing

Choose the correct answer from the options given below :

1. A.B.D Only

| )

.B.D. E Only
3.C.D.E Only
4. A C.B Ounly
Options :
68634035965. 1
68634035966. 2

68634035967. 3
68634035968. 4

Question Number : 92 Question Id : 6863409100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafaiad O 9 eiH-3H ¥ [deed gfeasiam & aR 1 98l & 2
A WIEH U widH alsh)
B. WidH Sl U0 1Ty
C. UISH ¥ He-aioil &9 § o gU gfaae 3w

D. SI.UA.U. & T 200 &MUl F fe19¢ gU UIdH sy
E. BI040, OfFHT & &0 100m ¥ (B

4 fau T fas et § © Tel 3R &1 904 B
1. 9T A.B 3R D

PaUB.D AR E

3. %39 C.D 3R E

4. PaAA. C R B

{ ]



Options :

68634035965. 1
68634035966. 2
68634035967. 3
68634035968. 4

Question Number : 93 Question Id : 6863409101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Restriction enzymes are the enzymes that :

A catalyze restricted reactions in DNA replication.
B. are essential tools in biotechnology

C. were discovered by Sanger and Pauling

D. Cut DNA specifically

E. are the immune defense mechanism in bacteria.
Choose the correct answer from the options given below :

1.B.D.E Only

b2

. C, D, E Ouly
3. A B Only
4. C.D Only

Options :

68634035969. 1
68634035970. 2
68634035971. 3
68634035972. 4

Question Number : 93 Question Id : 6863409101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfaeed TS d USSH § ofl:

A. S1.UA.U vfofone | ufadeq siifrans of IoiRd #3d 5
B. Olg Wieife! § sMava® qig= g |

C. S9! @i YR AR UTiei gRI 1 718 4|

D. 31.TA.U. i 3w =9 8 H1ed

E. Siraru]ii & WioRe gRa&m SreE 8|

A fgu TTu foeedl 5 9 96l IR &1 994 Hifo:

1. PaAB. D IR E
2. %aaC.D.E
3. Had A IRB
4. Fad C IR D

Options :

68634035969. 1

68634035970. 2

68634035971. 3
68634035972. 4

Question Number : 94 Question Id : 6863409102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Aversion to water [ | DNA content of cells
Levinthal paradox | II. | Hydrophobic effect
C-value paradox II1. | Protein conformations
Ramachandran plot | IV. | Protein folding

=l Lol o=l i

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III

2

CA-IL B-IV. C-1, D-II1
3. A-L. B-I1, C-I1. D-IV
4. AL B-IL, C-L D-IV

Options :

68634035973. 1
68634035974. 2
68634035975. 3
68634035976. 4

Question Number : 94 Question Id : 6863409102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it 1 91 g4t 11 9 fore Siforg

T 1 T 11
[FaE e I [@ifEe B Siuau & gl
cifdud faeiarHg| 1L [oadie udE
CAH iy [ I [ Oeun
HEEERASIE V. [{IEH de4

FFafaied el & O 98! 3R &1 999 DIl -

1. A-I. B-IV. C-I1. D-III

PIEICIE

|

AL B-IV. C-1. D-III
3. A-I. B-II, C-II. D-IV
4. A-TIL B-1IL. C-1. D-IV

Options :

68634035973. 1
68634035974. 2
68634035975. 3
68634035976. 4

Question Number : 95 Question Id : 6863409103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong MarKks : 1

Match List I with List IT

LISTI LISTII
A | Histidine I |pK;60
B. |Lysine I |pK; 10.6
C. | Tyrosine I | pK, 4.1
D. |Aspartic acid | IV, |pE; 10.9

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV. D-III

| B

CA-IL B-IV, C-IT1, D-I
3. A-TILL B-II. C-IV. D-1
4. A-I. B-11. C-IIT. D-IV

Options :

68634035977. 1
68634035978. 2
68634035979. 3
68634035980. 4

Question Number : 95 Question Id : 6863409103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

il 1 91 41 11 9 fore Siforg
Tt 1 I
A. %@Eﬂq I |pK,6.0
B. [d5dH . |pK, 106
C. [ergXiA I | pK, 4.1
D. [FSicd 3 | 1V JpK, 10.9
fFafafad fadedi & 9 98l 3R &1 999 Hifo

1. A-I. B-II. C-IV. D-III

[ B

CACIL B-IV. C-II1. D-1
3. AL B-I1L C-IV. D-1
4. A-L. B-IL C-IIL. D-IV

Options :

68634035977. 1
68634035978. 2
68634035979. 3
68634035980. 4

Question Number : 96 Question Id : 6863409104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
A | Xeray crvstallographyv | I | Molecular weight determination
B |Mass spectrometry II. | Protein detection
C. | Gel filtration I1II. | Protein structure
D. | Western blotting IV | Protein purification

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IIIL. D-IV

| )

ATV, BAIIL C-I1. D-1
3. A-L. B-I1. C-II1. D-IV
4. A-IIL B-1. C-IV, D-II

Options :

68634035981. 1
68634035982. 2
68634035983. 3
68634035984. 4

Question Number : 96 Question Id : 6863409104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

il 1 o1 g4 11 9 fore Siforg

A1 eIl
A [X-fpRu [ AR L [$UHR &7 FuURT
B. [goodH (@) Saedmd| 1. [WidH & &iid &A1
C [o F=iEd (Beewq) |11 Ui I
D. [d% st V. [AeH =eE
FgfeEd [o®edl & T 9l ST &1 994 S :

1. A-IL. B-1. C-ITIL. D-IV

| B

. A-TV, B-IIL C-11. D-1
3. A-I. B-1. C-IIL. D-IV
4. A-II1. B-1. C-IV. D-1I

Options :

68634035981. 1
68634035982. 2
68634035983. 3
68634035984. 4

Question Number : 97 Question Id : 6863409105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Caspazes I | Degradation
B. | Proteases II. | Replication
C. | Polymerases | IIL | Signalling
D. | Kinases IV. | Apoptosis

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1. D-1II

2

ATV, B-IIL, C-I1, D-1
3. A-IV. B-1, C-III. D-IT
4. A-IV. B-1. C-1I, D-III

Options :

68634035985. 1
68634035986. 2
68634035987. 3
68634035988. 4

Question Number : 97 Question Id : 6863409105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Il 1 o1 g 1 F e wiforg
T 1 I
A Jes 1 [amges
B. [WifeUs 1. [dicepida
C. [ 111 [Sdha
D [oras IV. [TOiPiTE
FFafeiad fowedl O 1 98t SR &1 99 Difer

1. A-IV. B-II. C-1. D-III

| B

. A-TV, B-IIL C-11. D-1
3. A-IV. B-1, C-III. D-II
4. A-IV. B-1, C-II. D-TII

Options :

68634035985. 1
68634035986. 2
68634035987. 3
68634035988. 4

Question Number : 98 Question Id : 6863409106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I
A | Thiamine pyrophosphate I | Glyvcogen phosphorvlase
B. | Pyvridoxal phosphate II. | Pyruvate carboxylase
C. | Biotin III. | Lactate dehvdrogenase
D. | Nicotinamide adenine dinucleotide | IV. | Pyruvate dehvdrogenase

Choose the correct answer from the options given below:

1. A-IV, B-II. C-III. D-I

2

CA-IV, B-L, C-I1, D-IIL
3. A-I. B-I1. C-IIIL D-IV
4. A-1. B-IIL C-IV. D-II

Options :

68634035989. 1
68634035990. 2
68634035991. 3
68634035992. 4

Question Number : 98 Question Id : 6863409106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

il 1 o1 41 11 9 fore Siforg
g 1 I
A [UTOHA TR IEhT L [es®ie BIEhRSO
B. [UsISiEad BIEhe 11. [ar3%de eralaias
C. [Emifed 111 [ e Teggaliel-a
D. [F@ifeHAEs Ue-H spgdadiess| IV. [fgEde SeEaiiaHd
freferRad fasedl & H el Otk &1 997 DIl ;

1. A-IV. B-II. C-III. D-1

| B

. A-TV, B-1. C-I1. D-II1
3. A-I. B-I1. C-IIIL D-IV
4. A-1, B-II. C-IV, D-1I

Options :

68634035989. 1
68634035990. 2
68634035991. 3
68634035992. 4

Question Number : 99 Question Id : 6863409107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Fatty acids I | Tetracycline, Aflatoxin By
Glyveerolipids | 11 | Oleate, Stearovl-CoA
Saccharolipads| IIL. | Triacvlglveerols
Polyvketides IV. | Lipopolysaccharide

Olo|=|»=

Choose the correct answer from the options given below:
1. A-IIL B-II. C-I, D-IV
2. A-IL B-IL C-1. D-IV
3. A-IL B-IIL. C-IV. D-I
4. A-IL B-IL. C-IV. D-I
Options :
68634035993. 1
68634035994. 2

68634035995. 3
68634035996. 4

Question Number : 99 Question Id : 6863409107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

il 1 91 41 11 9 fore Siforg

il A1
ERIEEEEN 1 [CCrEEET, THICHSRH B,
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1. A-IIL B-IL. C-1. D-IV

dlo|w]»=

| o]

A-IL B-IIIL C-L D-IV
3. A-IL B-IIL C-IV. D-1
4. A-II. B-1I. C-IV. D-I

Options :

68634035993. 1
68634035994. 2
68634035995. 3
68634035996. 4

Question Number : 100 Question Id : 6863409108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Twpe 1L restriction I Removes nucleotides from 5°
" | endonuclease " | ends of duplex DNA
- Removes nucleotides from the 3°
B | PHA T I ends of a DINA strand
¢ | Exonuclease III 1L Cleaves DNA at specific base
sequences

D | Bacteriophage 7 exonuclease | IV | Joins two DINA molecules

Choose the correct answer from the options given below:
1. A-IIL B-IV. C-II. D-I
2. ATV, B-IL C-I1. D-I

. A-IT. B-TIL C-IV. D-I

LN

4. A-1. B-II. C-IIIL D-IV

Options :

68634035997. 1
68634035998. 2
68634035999. 3
68634036000. 4



Question Number : 100 Question Id : 6863409108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 o1 g4t 11 9 forr Siforg

il T 1T
s |etrn e | 1 S S Ry
N —— o g%:r_q_wét 3 RN O gfeaieRad
C. [Tfaaus 1L [[Gf21p &R 39 H 9 S1 03 U @1 f[dgad
" SIS (SacHRams ) 4 Iv. [Gr @ e s @ e
Fafafad [doedi § 4 981 9ok &1 9094 Difoig -

1 AL B-IV. C-11. D-I
2. A-IV. B-11L, C-11. D-1
3. A-IL B-IIL, C-IV. D-I
4. A-L. B-II. C-IIT, D-IV

Options :

68634035997. 1

68634035998. 2

68634035999. 3
68634036000. 4



